

Name of College - S.S. College J. Bad.

Page - 1

Deptt - Mathematics

Topic - Hyperbolic Functions

Date - 05-04-2021

Time - 10 AM to 11:30 AM

Class - B.Sc I (Hons)

Study Material

By - Samyendra Kumar

1. Definitions of Hyperbolic Functions :-

Notation - Hyperbolic sin of $z \rightarrow \sinh z$
Hyperbolic cos of $z \rightarrow \cosh z$
Hyperbolic tan of $z \rightarrow \tanh z$ etc.

Here z is a real or complex

$\sinh z$ is defined as

$$\begin{aligned} \sinh z &= \frac{e^z - e^{-z}}{2} \\ \cosh z &= \frac{e^z + e^{-z}}{2} \\ \tanh z &= \frac{e^z - e^{-z}}{e^z + e^{-z}} \end{aligned} \quad \left\{ \begin{aligned} \operatorname{sech} z &= \frac{1}{\sinh z} \\ \operatorname{csch} z &= \frac{1}{\cosh z} \\ \operatorname{coth} z &= \frac{1}{\tanh z} \end{aligned} \right.$$

Relation between Circular Functions and hyperbolic functions

Since we know $e^{i\theta} = \cos \theta + i \sin \theta$
 $e^{-i\theta} = \cos \theta - i \sin \theta$

$$\Rightarrow \cos \theta = \frac{e^{i\theta} + e^{-i\theta}}{2} \quad \text{and} \quad \sin \theta = \frac{e^{i\theta} - e^{-i\theta}}{2i}$$

Replace θ by ix and using $i^2 = -1$ $-i^2 = 1$

$$\begin{aligned} \cos ix &= \frac{e^{iix} + e^{-iix}}{2} \\ &= \frac{e^{-x^2} + e^x}{2} \\ &= \frac{e^{x^2} + e^{-x}}{2} = \cosh x \end{aligned}$$

$$\Rightarrow \sin ix = i \sinh x$$

$$\begin{aligned} \text{Also } \sin ix &= \frac{e^{iix} - e^{-iix}}{2i} \\ &= \frac{e^{-x} - e^x}{2i} \end{aligned}$$

$$\Rightarrow i \sin ix = \frac{e^{-x} - e^x}{2} = \sinh x$$

$$\Rightarrow \sin ix = \frac{1}{i} \sinh x = -i \sinh x$$
$$\Rightarrow i \sin ix = -(\frac{x^2}{2} - \frac{x^2}{2})$$

Since $\sin ix = i \sinh x$
 $\cos ix = \cosh x$

$$\Rightarrow \tan ix = i \tanh x$$

Conversion of Circular Functions
 into Hyperbolic Functions

Thus $\sin ix = i \sinh x$

$$\cos ix = \cosh x$$

$$\tan ix = i \tanh x$$

Conversion of Hyperbolic
 Functions into Circular

$$\sinh x = \frac{1}{i} \sin ix$$

$$= -i \sin ix$$

$$\cosh x = \cos ix$$

$$\tanh x = -i \tan ix$$

Important Formulae for Hyperbolic Functions: -

$$1. \cosh^2 x - \sinh^2 x = 1 \quad \begin{cases} 1 + \sinh^2 x = \cosh^2 x \\ \cosh^2 x - 1 = \sinh^2 x \end{cases}$$

for $\cosh^2 x - \sinh^2 x$

$$= \left[\frac{e^x + e^{-x}}{2} \right]^2 - \left[\frac{e^x - e^{-x}}{2} \right]^2$$

$$= \frac{1}{4} \left[(e^x + e^{-x})^2 - (e^x - e^{-x})^2 \right]$$

using $(a+b)^2 - (a-b)^2 = 4ab$.

$$= \frac{1}{4} \cdot 4 \cdot e^x \cdot e^{-x}$$

$$= 1$$

Now $\cosh^2 x - \sinh^2 x = 1$

$$\Rightarrow 1 - \tanh^2 x = \operatorname{sech}^2 x \Rightarrow \operatorname{sech}^2 x + \tanh^2 x = 1$$

$\tanh^2 x = 1 - \operatorname{sech}^2 x$
 $\operatorname{sech}^2 x = 1 - \tanh^2 x$

Again Since $\cosh^2 x - \sinh^2 x = 1$

$$\Rightarrow \coth^2 x - 1 = \operatorname{csch}^2 x$$

$$\Rightarrow \coth^2 x + \operatorname{csch}^2 x = 1$$

$$\begin{cases} \cosh^2 x - 1 = \sinh^2 x \\ 1 + \operatorname{csch}^2 x = \coth^2 x \end{cases}$$

Expansion of $\sinh x$ and $\cosh x$

Since we have $\sin \theta = \theta - \frac{\theta^3}{3!} + \frac{\theta^5}{5!} - \dots$

$\cos \theta = 1 - \frac{\theta^2}{2!} + \frac{\theta^4}{4!} - \dots$

Now $\sinh x = -i \sin ix$

$$= -i \left[ix - \frac{i^3 x^3}{3!} + \frac{i^5 x^5}{5!} - \dots \right]$$

$$= -i^2 x + \frac{i^4 x^3}{3!} - \frac{i^6 x^5}{5!} - \dots$$

using $i^2 = -1$ $i^4 = 1$ $i^{4n+1} = i$ $i^{4n+2} = -1$ $i^{4n+3} = -i$

Where $n = 1, 2, 3, \dots$

$$= x + \frac{x^3}{3!} + \frac{x^5}{5!} + \dots$$

$$\cosh x = \cos ix = 1 - \frac{i^2 x^2}{2!} + \frac{i^4 x^4}{4!} - \frac{i^6 x^6}{6!} + \dots$$

$$= 1 + \frac{x^2}{2!} + \frac{x^4}{4!} + \frac{x^6}{6!} + \dots$$

Periods of Hyperbolic Functions $\rightarrow$

$\sinh x$ and $\cosh x$ are periodic Functions whose periods are imaginary and equal to $2\pi i$

but $\tanh x$ is also periodic Function whose periods are imaginary and Equal to πi

This Hyperbolic Function	period.	Nature of Period.
$f(x) = \sinh x$	$2\pi i$	Imaginary
$= \cosh x$	$2\pi i$	Imaginary
$= \tanh x$	πi	Imaginary